

https://doi.org/10.26637/MJM0702/0024

©2017 MJM.

# Properties of intuitionistic anti fuzzy normal subrings

## B. Anitha\*

#### Abstract

In this paper we introduce the definition of intuitionistic anti fuzzy normal subrings. We also made an attempt to study the algebraic nature of intuitionistic anti fuzzy normal subrings of a ring.

#### **Keywords**

Intuitionistic fuzzy subsets, intuitionstic anti fuzzy subring, intuitionistic anti fuzzy normal subrings.

#### **AMS Subject Classification**

08A72

Department of Mathematics, Government Arts College, C. Mutlur, Chidambaram-608102, Tamil Nadu, India. \*Corresponding author: anibhavan05@gmail.com Article History: Received 02 January 2019; Accepted 03 April 2019

- Contents

- 3 Properties of intuitionistic anti fuzzy normal subrings 305

#### 1. Introduction

After an introduction of fuzzy sets by L.A. Zadeh [8] several researchers explored on the generalization of the notion of fuzzy set. The concept of intuitionistic fuzzy set was introduced by K.T. Atanassov [1] as a generalization of the notion of a fuzzy set. In this paper, we discuss algebraic nature of intuitionistic anti fuzzy normal subrings and prove some results on these.

## 2. Preliminaries

**Definition 2.1.** An intuitionistic fuzzy subset (IFS) A in  $\chi$  is defined as an object of the form  $A = \{\langle x, \mu_A(x), \gamma_A(x) \rangle / x \in \chi\}$ , where  $\mu_A : \chi \to [0,1]$  and  $\gamma_A : \chi \to [0,1]$  define the degree of membership and the degree of non-membership of the element  $x \in \chi$  respectively and for every  $x \in \chi$  satisfying  $0 \le \mu_A(x) + \gamma_A(x) \le 1$ .

**Definition 2.2.** Let  $(R, +, \cdot)$  be a ring. An intuitionistic fuzzy *A* of *R* issued to be an intuitionistic anti fuzzy subring of *R* (IAFSR) if it satisfies the following axioms:

- 1.  $\mu_A(x-y) \le \max\{\mu_A(x), \mu_A(y)\}\$
- 2.  $\mu_A(xy) \le \max\{\mu_A(x), \mu_A(y)\}$
- 3.  $\gamma_A(x-y) \ge \min\{\gamma_A(x), \gamma_A(y)\}$
- 4.  $\gamma_A(xy) \ge \min\{\gamma_A(x), \gamma_A(y)\}, \text{ for all } x, y \in R.$

**Definition 2.3.** *Let R be a ring. An intuitionistic anti fuzzy subring A of R is said to be an intuitionistic anti fuzzy normal subring (IAFNSR) of R if it satisfies the following axioms:* 

- 1.  $\mu_A(xy) = \mu_A(yx)$
- 2.  $\gamma_A(xy) = \gamma_A(yx)$ , for all  $x, y \in R$ .

**Definition 2.4.** Let A and B be intuitionistic fuzzy sets of the rings with identity  $R_1$  and  $R_2$  respectively and  $A \times B$  is an intuitionistic anti fuzzy subring of  $R_1 \times R_2$ . Then the following are true.

- 1. If  $\mu_A(x) \ge \mu_B(e')$  and  $\gamma_A(x) \le \gamma_B(e')$  then A is an intuitionistic anti fuzzy subring of  $R_1$ .
- 2. If  $\mu_B(x) \ge \mu_A(e)$  and  $\gamma_B(x) \le \gamma_A(e)$ , then *B* is an intuitionistic anti fuzzy subring of  $R_2$ .
- Either A is an intuitionistic anti fuzzy subring of R<sub>1</sub> or B is an intuitionistic anti fuzzy subring of R<sub>2</sub>.

**Definition 2.5.** Let A and B be two intuitionistic anti fuzzy subrings  $R_1$  and  $R_2$  respectively. The product of A and B, denoted by  $A \times B$ , is defined as  $A \times B = \{\langle (x,y), \mu_{A \times B}(x,y), \gamma_{A \times B}(x,y) \rangle / \text{ for all } x \in R_1 \text{ and } y \in R_2 \}$ , where  $\mu_{A \times B}(x,y) = \max\{\mu_A(x), \mu_B(y)\}$  and  $\gamma_{A \times B}(x,y) = \min\{\gamma_A(x), \gamma_B(y)\}$ .

# 3. Properties of intuitionistic anti fuzzy normal subrings

**Theorem 3.1.** If A and B are two intuitionistic anti fuzzy normal subrings of a ring R, then their intersection  $A \cap B$  is an intuitionistic anti fuzzy normal subring of R.

*Proof.* Let  $x, y \in R$ .

Let  $A = \{\langle x, \mu_A(x), \gamma_A(x) \rangle / x \in R\}$  and  $B = \{\langle x, \mu_B(x), \gamma_B(x) \rangle / x \in R\}$  be intuitionistic anti fuzzy normal subrings of a ring *R*. Let  $C = A \cap B$  and  $C = \{\langle x, \mu_C(x), \gamma_C(x) \rangle / x \in R\}$ 

Let  $C = A \cap B$  and  $C = \{\langle x, \mu_C(x), \gamma_C(x) \rangle / x \in R \}$ where  $\max\{\mu_A(x), \mu_B(x)\} = \mu_C(x)$  and  $\min\{\gamma_A(x), \gamma_B(x)\} = \gamma_C(x)$ .

Clearly, *C* is an intuitionistic anti fuzzy subring of a ring *R*.

Since *A* and *B* are two intuitionistic anti fuzzy subring of a ring *R*. Now

$$\mu_C(xy) = \max\{\mu_A(xy), \mu_B(xy)\}\$$
  
= max{ $\mu_A(yx), \mu_B(yx)$ } by definition  
=  $\mu_C(yx)$ 

Therefore  $\mu_C(xy) = \mu_C(yx)$ , for all  $x, y \in R$ . Also

$$\gamma_{C}(xy) \min\{\gamma_{A}(xy), \gamma_{B}(xy)\} = \min\{\gamma_{A}(yx), \gamma_{B}(yx)\}$$
by definition  
=  $\gamma_{C}(yx)$ 

Therefore  $\gamma_C(xy) = \gamma_C(yx)$ , for all  $x, y \in R$ . Hence intersection of two intuitionistic anti fuzzy normal subring is an intuitionistic anti fuzzy normal subring of a ring *R*.

**Theorem 3.2.** If A is an intuitionistic anti fuzzy normal subring of a ring R, then  $\Box A$  is an intuitionistic anti fuzzy normal subring of a ring R.

*Proof.* Let  $\Box A = \{ \langle x, \mu_A(x), \mu_A^C(x) \rangle / x \in R \}$ . Since *A* is an intuitionistic anti fuzzy subring

$$\mu_A(x-y) \le \max\{\mu_A(x), \mu_A(y)\}$$
$$\mu_A(xy) \le \max\{\mu_A(x), \mu_A(y)\}$$

Now

$$\mu_{A}^{C}(x-y) = 1 - \mu_{A}(x-y)$$
  

$$\geq 1 - \max\{\mu_{A}(x), \mu_{A}(y)\}\$$
  

$$= \min\{1 - \mu_{A}(x), 1 - \mu_{A}(y)\}\$$
  

$$= \min\{\mu_{A}^{C}(x), \mu_{A}^{C}(y)\}\$$

$$\mu_{A}^{C}(xy) = 1 - \mu_{A}(xy)$$
  

$$\geq 1 - \max\{\mu_{A}(x), \mu_{A}(y)\}\$$
  

$$= \min\{1 - \mu_{A}(x), 1 - \mu_{A}(y)\}\$$
  

$$= \min\{\mu_{A}^{C}(x), \mu_{A}^{C}(y)\}\$$

Therefore  $\Box A$  is intuitionistic anti fuzzy subring of *R*. Now

$$\mu^{C}(xy) = 1 - \mu(xy)$$
$$= 1 - \mu(yx)$$
$$= \mu^{C}(yx)$$

Therefore  $\Box A$  is intuitionistic anti fuzzy normal subring of *R*.  $\Box$ 

**Theorem 3.3.** If A is an intuitionistic anti fuzzy normal subring of a ring R, then  $\diamond A$  is an intuitionistic anti fuzzy normal subring of a ring R.

*Proof.* Let  $\diamond A = \{\langle x, \gamma^{C}(x), \gamma(x) \rangle | x \in R\}$ . Since *A* is an intuitionistic anti fuzzy subring of *R*,

$$\gamma_A(x-y) \ge \min\{\gamma(x), \gamma(y)\}$$
  
$$\gamma(xy) \ge \min\{\gamma(x), \gamma(y)\}, \text{ for all } x, y \in R.$$

Now

$$\begin{aligned} & \sum_{A} \gamma_{A}^{C}(x-y) = 1 - \gamma_{A}(x-y) \\ & \leq 1 - \min\{\gamma(x), \gamma(y)\} \\ & = \max\{1 - \gamma(x), 1 - \gamma(y)\} \\ & = \max\{\gamma^{C}(x), \gamma^{C}(y)\} \end{aligned}$$

$$\begin{aligned} \mathcal{L}_{A}^{\mathcal{L}}(xy) &= 1 - \gamma_{A}(xy) \\ &\leq 1 - \min\{\gamma(x), \gamma(y)\} \\ &= \max\{1 - \gamma(x), 1 - \gamma(y)\} \\ &= \max\{\gamma^{\mathcal{L}}(x), \gamma^{\mathcal{L}}(y)\} \end{aligned}$$

Therefore  $\diamond A$  is intuitionistic anti fuzzy subring of *R*. Now

$$\gamma^{\mathcal{C}}(xy) = 1 - \gamma(xy)$$
$$= 1 - \gamma(yx)$$
$$= \gamma^{\mathcal{C}}(yx)$$

Therefore  $\diamond A$  is intuitionistic anti fuzzy normal subring of *R*.

**Theorem 3.4.** An intuitionistic fuzzy set  $A = (\mu_A, \gamma_A)$  is an intuitionistic anti fuzzy normal subring of a ring R if and only if the fuzzy subsets  $\mu_A$  and  $\gamma_A^C$  are anti fuzzy normal subring of R.

*Proof.* Let  $A = (\mu_A, \gamma_A)$  be an intuitionistic anti fuzzy normal subring of *R*. Then clearly  $\mu_A$  is an anti fuzzy normal subring



of *R*. Now

$$\begin{aligned} \gamma_A^C(x-y) &= 1 - \gamma_A(x-y) \\ &\leq 1 - \min\{\gamma_A(x), \gamma_A(y)\} \\ &= \max\{1 - \gamma_A(x), 1 - \gamma_A(y)\} \\ &= \max\{\gamma_A^C(x), \gamma_A^C(y)\} \end{aligned}$$

$$\begin{split} \gamma_A^C(xy) &= 1 - \gamma_A(xy) \\ &\leq 1 - \min\{\gamma_A(x), \gamma_A(y)\} \\ &= \max\{1 - \gamma_A(x), 1 - \gamma_A(y)\} \\ &= \max\{\gamma_A^C(x), \gamma_A^C(y)\} \\ \gamma_A^C(xy) &= 1 - \gamma_A(xy) \\ &= 1 - \gamma_A(yx) \\ &= \gamma_A^C(yx) \end{split}$$

Thus  $\gamma_A^C$  is an anti fuzzy normal subring of *R*. Conversely,  $\mu_A$  and  $\gamma_A^C$  are anti fuzzy normal subring of *R*.  $\gamma_A^C(x-y) \le \max\{\gamma_A^C(x), \gamma_A^C(y)\}$  $1 - \gamma_A(x - y) \le \max\{1 - \gamma_A(x), 1 - \gamma_A(y)\}$  $= 1 - \min\{\gamma_A(x), \gamma_A(y)\}$  $\Rightarrow \gamma_A(x-y) \ge \min\{\gamma_A(x), \gamma_A(y)\}$  $\gamma_A^C(xy) \le \max\{\gamma_A^C(x), \gamma_A^C(y)\}$  $1 - \gamma_A(xy) \le \max\{1 - \gamma_A(x), 1 - \gamma_A(y)\}$  $= 1 - \min\{\gamma_A(x), \gamma_A(y)\}$  $\Rightarrow \gamma_A(xy) \ge \min\{\gamma_A(x), \gamma_A(y)\}$  $\gamma_A^C(xy) = \gamma_A^C(yx)$  $1 - \gamma_A(xy) = 1 - \gamma_A(yx)$  $\Rightarrow \gamma_A(xy) = \gamma_A(yx)$ 

Thus  $A = (\mu_A, \gamma_A)$  is an intuitionistic anti fuzzy normal subring of a ring R. 

**Theorem 3.5.** An intuitionistic fuzzy set  $A = (\mu_A, \gamma_A)$  is an intuitionistic anti fuzzy normal subring of a ring R if and only if the fuzzy subsets  $\mu_A^C$  and  $\gamma_A$  are fuzzy normal subrings of R.

*Proof.* Suppose  $A = (\mu_A, \gamma_A)$  is an intuitionistic anti fuzzy normal subring of R. Clearly  $\gamma_A$  is a fuzzy normal subring of *R*. Now we have to show that  $\mu_A^C$  is also a fuzzy normal subring of *R*.

Now

$$\begin{aligned} \gamma_{A}^{C}(x-y) &= 1 - \gamma_{A}(x-y) \\ &\geq 1 - \max\{\mu_{A}(x), \mu_{A}(y)\} \\ &= \min\{1 - \mu_{A}(x), 1 - \mu_{A}(y)\} \\ &= \min\{\mu_{A}^{C}(x), \mu_{A}^{C}(y)\} \end{aligned}$$

$$\mu_{A}^{C}(xy) = 1 - \mu_{A}(xy)$$
  

$$\geq 1 - \max\{\mu_{A}(x), \mu_{A}(y)\}\$$
  

$$= \min\{1 - \mu_{A}(x), 1 - \mu_{A}(y)\}\$$
  

$$= \min\{\mu_{A}^{C}(x), \mu_{A}^{C}(y)\}\$$

$$\mu_A^C(xy) = 1 - \mu_A(xy)$$
$$= 1 - \mu_A(yx)$$
$$= \mu_A^C(yx)$$

 $\therefore \mu_A^C$  is fuzzy normal subring. Conversely,  $\mu_A^C$ ,  $\gamma_A$  are fuzzy normal subring of *R*.  $\mu_A^C(x-y) \ge \min\{\mu_A^C(x), \mu_A^C(y)\}$  $1 - \mu_A(x - y) \ge \min\{1 - \mu_A(x), 1 - \mu_A(y)\}$  $= 1 - \max\{\mu_A(x), \mu_A(y)\}$  $\therefore \mu_A(x-y) \le \max\{\mu_A(x), \mu_A(y)\}\$  $\mu_A^C(xy) \ge \min\{\mu_A^C(x), \mu_A^C(y)\}$  $1 - \mu_A(xy) \ge \min\{1 - \mu_A(x), 1 - \mu_A(y)\}$  $= 1 - \max{\{\mu_A(x), \mu_A(y)\}}$  $\therefore \mu_A(xy) \leq \max\{\mu_A(x), \mu_A(y)\}$  $\mu_A^C(xy) = \mu_A^C(yx)$  $1 - \mu_A(xy) = 1 - \mu_A(yx)$  $\mu_A(xy) = \mu_A(yx)$ Thus  $A = (\mu_A, \gamma_A)$  is an intuitionistic anti fuzzy normal subring of a ring R.

## 4. Direct product of intuitionistic anti fuzzy normal subrings

In this section we discuss direct product of intuitionistic anti fuzzy normal subrings. If  $R_1, R_2$  are rings, then direct product  $R_1 \times R_2$  of  $R_1$  and  $R_2$  is a ring with point wise addition '+' and multiplication 'o'defined as (a,b) + (c,d) = (a+c,b+d) and  $(a,b) \circ (c,d) = (ac,bd)$  respectively for every (a,b), (c,d) in  $R_1 \times R_2$ .

**Theorem 4.1.** If A and B are two intuitionistic anti fuzzy normal subrings of rings  $R_1$  and  $R_2$  respectively, then  $A \times B$  is an intuitionistic anti fuzzy normal subring of  $R_1 \times R_2$ .

*Proof.* Let  $A = \{(x, \mu_A(x), \gamma_A(x)) | x \in R_1\}$  and  $B = \{(y, \mu_B(y), y_A(x)) | x \in R_1\}$  $\gamma_B(y)/y \in R_2$  be intuitionistic anti fuzzy normal subrings of  $R_1$  and  $R_2$  respectively.

Now  $A \times B = \{((x, y), \mu_{A \times B}(x, y), \gamma_{A \times B}(x, y)) / \text{ for all } x \in R_1$ and  $y \in R_2$ , where  $\mu_{A \times B}(x, y) = \max{\{\mu_A(x), \mu_B(y)\}}$  and  $\gamma_{A \times B}(x, y) = \min{\{\gamma_A(x), \gamma_A(y)\}}$ . We have to show that  $A \times B$ is an intuitionistic anti fuzzy normal subrings of  $R_1 \times R_2$ . Let  $(a,b), (c,d) \in R_1 \times R_2.$ 

Now,

$$\begin{split} \mu_{A \times B}((a,b)-(c,d)) &= \mu_{A \times B}(a-c,b-d) \\ &= \max\{\mu_A(a-c),\mu_B(b-d)\} \\ &= \mu_A(a-c)\gamma\mu_B(b-d) \\ &\leq \{\mu_A(a)\gamma\mu_A(c)\}\gamma\{\mu_B(b)\gamma\mu_B(d)\} \\ &= \mu_A(a)\gamma\{\mu_A(c)\gamma\mu_B(b)\}\gamma\mu_B(d) \\ &= \mu_A(a)\gamma\{\mu_B(b)\gamma\mu_A(c)\}\gamma\mu_B(d) \\ &= \{\mu_A\gamma\mu_B(b)\}\gamma\{\mu_A(c)\gamma\mu_B(d)\} \\ &= \mu_{A \times B}(a,b)\gamma\mu_{A \times B}(c,d) \end{split}$$

 $\square$ 

and

$$\mu_{A\times B}((a,b)\circ(c,d)) = \mu_{A\times B}(ac,bd)$$

$$= \max\{\mu_A(ac),\mu_B(bd)\}$$

$$= \mu_A(ac)\gamma\mu_B(bd)$$

$$\leq \{\mu_A(a)\gamma\mu_A(c)\}\gamma\{\mu_B(b)\gamma\mu_B(d)\}$$

$$= \mu_A(a)\gamma\{\mu_A(c)\gamma\mu_B(b)\}\gamma\mu_B(d)$$

$$= \{\mu_A\gamma\mu_B(b)\}\gamma\{\mu_A(c)\gamma\mu_B(d)\}$$

$$= \mu_{A\times B}(a,b)\gamma\mu_{A\times B}(c,d)$$

$$\mu_{A \times B}((a,b) \circ (c,d)) = \mu_{A \times B}(ac,bd)$$
  
= max( $\mu_A(ac), \mu_B(bd)$ )  
= max{ $\mu_A(ca), \mu_B(db)$ },  
since A and B are IAFNSRs  
=  $\mu_{A \times B}(ca,db)$   
=  $\mu_{A \times B}((c,d) \circ (a,b))$ 

Similarly,  $\gamma_{A \times B}((a,b) - (c,d)) \ge \gamma_{A \times B}(a,b) \land \gamma_{A \times B}(c,d)$ ,  $\gamma_{A \times B}((a,b) \circ (c,d)) \ge \gamma_{A \times B}(a,b) \land \gamma_{A \times B}(c,d)$  and  $\gamma_{A \times B}((a,b) \circ (c,d)) = \gamma_{A \times B}((c,d) \circ (a,b))$ . Hence  $A \times B$  is an intuitionistic anti fuzzy normal subring of  $R_1 \times R_2$ .

**Theorem 4.2.** Let A and B be intuitionistic fuzzy sets of the rings  $R_1$  and  $R_2$  respectively. Suppose that  $e_1$  and  $e_2$  are identity element of  $R_1$  and  $R_2$  respectively. If  $A \times B$  is an intuitionistic anti fuzzy normal subring of  $R_1 \times R_2$ , then at least one of the following two statements must holds.

1. 
$$\mu_B(e_2) \leq \mu_A(x)$$
 and  $\gamma_B(e_2) \geq \gamma_A(x)$ , for all  $x \in R_1$ .

2. 
$$\mu_A(e_1) \leq \mu_B(y)$$
 and  $\gamma_A(e_1) \geq \gamma_B(y)$ , for all  $y \in R_2$ .

*Proof.* Let  $A \times B$  is an IAFNSR of  $R_1 \times R_2$ . If possible, let the statements (i) and (ii) does not holds.

Then we can find  $x \in R_1$  and y in  $R_2$  such that  $\mu_A(x) < \mu_B(e_2), \gamma_A(x) > \gamma_B(e_2)$  and  $\mu_B(y) < \mu_A(e_1), \gamma_B(y) > \gamma_A(e_1)$ . Thus we have

$$\mu_{A \times B}(x, y) = \max\{\mu_A(x), \mu_B(y)\} < \max\{\mu_A(e_1), \mu_B(e_2)\} = \mu_{A \times B}\{e_1, e_2\}$$

and

$$\gamma_{A \times B}(x, y) = \min\{\gamma_A(x), \gamma_B(y)\}$$
  
> min{ $\gamma_A(e_1), \gamma_B(e_2)$ }  
=  $\gamma_{A \times B}\{e_1, e_2\}$ 

which implies that  $A \times B$  is not an intuitionistic anti fuzzy normal subring of  $R_1 \times R_2$ . A contradiction. Hence either  $\mu_B(e_2) \le \mu_A(x)$  and  $\gamma_B(e_2) \ge \gamma_A(x)$  holds for all x in  $R_1$  or  $\mu_A(e_1) \le \mu_B(y)$  and  $\gamma_A(e_1) \ge \gamma_B(y)$ , holds for all y in  $R_2$ .  $\Box$  **Theorem 4.3.** Let A and B be intuitionistic fuzzy set of the subring  $R_1$  and  $R_2$  respectively such that  $\mu_A(x) \ge \mu_B(e_2)$  and  $\gamma_A(x) \le \gamma_B(e_2)$  holds for all  $x \in R_1, e_2$  being the identity element of  $R_2$ . If  $A \times B$  is an intuitionistic anti fuzzy normal subring of  $R_1 \times R_2$ , then A is intuitionistic anti fuzzy normal subring of subring  $R_1$ .

*Proof.* Let  $\mu_A(x) \ge \mu_B(e_2)$  and  $\gamma_A(x) \le \gamma_B(e_2)$ , for all  $x \in R_1$ . We have to show that *A* is intuitionistic anti fuzzy normal subring of  $R_1$ . Now

$$\mu_{A}(x-y) = \mu_{A}(x+(-y))$$
  
= max{ $\mu_{A}(x+(-y)), \mu_{B}(e_{2}+(-e_{2}))$ }  
=  $\mu_{A\times B}((x+(-y)), e_{2}+(-e_{2}))$   
=  $\mu_{A\times B}((x,e_{2})+(-y,-e_{2}))$   
=  $\mu_{A\times B}((x,e_{2})-(y,e_{2}))$   
 $\leq \mu_{A\times B}(x,e_{2}) \lor \mu_{A\times B}(y,e_{2}),$   
since  $A \times B$  is IAFNSR  
= max{ $\mu_{A}(x), \mu_{B}(e_{2})$ }  $\lor$  max{ $\mu_{A}(y), \mu_{B}(e_{2})$ }  
=  $\mu_{A}(x) \lor \mu_{A}(y)$ 

and

$$\mu_A(xy) = \max \{ \mu_A(xy), \mu_B(e_2e_2) \}$$
  
=  $\mu_{A \times B}(xy, e_2e_2)$   
=  $\mu_{A \times B}(x, e_2) \cdot (y, e_2)$   
 $\leq \mu_{A \times B}(x, e_2) \lor \mu_{A \times B}(y, e_2), \text{ since } A \times B \text{ is IAFNSR}$   
=  $\max \{ \mu_A(x), \mu_B(e_2) \} \lor \max \{ \mu_A(y), \mu_B(e_2) \}$   
=  $\mu_A(x) \lor \mu_A(y)$ 

Now

$$\mu_A(xy) = \max \{ \mu_A(xy), \mu_B(e_2e_2) \}$$
  
=  $\mu_{A \times B}((xy, e_2e_2))$   
=  $\mu_{A \times B}((x, e_2) \cdot (y, e_2))$   
=  $\mu_{A \times B}((y, e_2) \cdot (x, e_2))$ , since  $A \times B$  is IAFNSR  
=  $\mu_{A \times B}(yx, e_2e_2)$   
=  $\max \{ \mu_A(yx), \mu_B(e_2e_2) \}$   
=  $\mu_A(yx)$ 

Similarly, we can prove that  $\gamma_A(x-y) \ge \min\{\gamma_A(x), \gamma_A(y)\}, \gamma(xy) \ge \min\{\gamma_A(x), \gamma_A(y)\}$  and  $\gamma_A(xy) = \gamma_A(yx)$  for all  $x, y \in R_1$ . Thus *A* is an intuitionistic anti fuzzy normal subring of  $R_1$ .

**Theorem 4.4.** Let A and B be intuitionistic fuzzy set of the subring  $R_1$  and  $R_2$  respectively such that  $\mu_B(y) \le \mu_B(e_1)$  and  $\gamma_B(y) \le \gamma_B(e_1)$  holds for all  $y \in R_2, e_1$  being the identity element of  $R_1$ . If  $A \times B$  is an intuitionistic anti fuzzy normal subring of  $R_1 \times R_2$ , then B is intuitionistic anti fuzzy normal subring of subring  $R_2$ .

*Proof.* The proof is similar to the above theorem.



### Acknowledgment

The author would like to thanks to the referees.

#### References

- Atanasoov. K.T., Intuitionistic fuzzy sets, *Fuzzy Sets and Systems*, 20 (1) (1986) 87–96.
- Rajkumar Kumar, Fuzzy Algebra, University of Delhi Publication, (1) July–1993.
- Sharma. P.K., On the Direct Product of Intuitionistic Fuzzy Subgroups, *Int. Mathematical Forum*, 7 (11)(2012) 523– 530.
- [4] Sharma. P.K. and Vandana Bansal., On Intuitionistic Anti-Fuzzy Ideals in Rings, *Int. J. Mathematical Sciences*, 11 (3-4) (2012) 237–243.
- [5] Saravanan .V and Sivakumar. D., A Study on Anti-Fuzzy Normal Subsemiring of a Semiring, *Int. Mathematical Forum*, 7 (53)(2012) 2623–2631.
- [6] Tariq Shah. Nasreen Kausar. and Inayatur-Rehman., Intuitionistic Fuzzy Normal Subrings Over a Non-associative Ring, An. St. Univ. Oridius Constanta, 20 (1)(2012) 369– 386.
- [7] Veeramani. V. Arjunan. K. and Palaniappan. N., Some Proerties of Intuitionistic Fuzzy Normal Subrings, *Applied Mathematical Sciences*, 4 (43)(2010) 2119–2124.
- [8] Zadeh. L.A., Fuzzy Set, *Information and Control*, 8 (1965) 338–353.

\*\*\*\*\*\*\*\*\* ISSN(P):2319 – 3786 Malaya Journal of Matematik ISSN(O):2321 – 5666 \*\*\*\*\*\*\*\*

